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Quiz I: Discrete Math, MTH 213, Fall 2017
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(vi) Given 210 < = < 420 such that X is divisible by 10,20 = 2 (mod 3), and » = 6 (mod 7). Find .
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Quiz I: Discrete Math, MTH 213, Fall 2017
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QUESTION 1. (i) Find (2617) ~ (263), = (223 L) ? /_
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(i) Prove v/53 is imrational, [Hint: Deny. Then v/53 = a/b where a, b are odd and ged{a, b) = 1, now start cooking]
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QUESTION L. Let I} = {rt, 6 {1.6}.3,4, {3} } be the universal set, 4 = {t, {t.6},4}.and B = {6, {3}.¢}
(i) Find B’
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QUESTION 2.a) Given f : R — {~2,2] such that f(z) = sinfz). Is f(z) I-1? Is f(z) ONTO? Is f(z) bijective?
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QUESTION L. Let I} = {rt, 6 {1.6}.3,4, {3} } be the universal set, 4 = {t, {t.6},4}.and B = {6, {3}.¢}
(i) Find B’

Q. Uyc,é,g.fs//

(ii) Find &4 - B’
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QUESTION 2.a) Given f : R — {~2,2] such that f(z) = sinfz). Is f(z) I-1? Is f(z) ONTO? Is f(z) bijective?
EXPLAIN BRIEFLY
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b) Given £ : [0,0) = [1. 00} such that f(z) = v/ + 1. Is f(z) I-1? Is f(z) ONTO? Is f(z) bijective? EXPLAIN
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QUESTION 1. Given stringi, say §y : 10 10:1 | and string2, say S» : 1 0.11.1.0

a) Find §1 A 52
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QUESTION 3. Given a sequence {b, }5%,, where by = 5,0y = |, and b, = =3b,,_; + 10b, -2 + v/ + 3. Find a general

formula for b,,.
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QUESTION 1. 1) Assume there arc 47 persons in a class room. Then there are at feast n persons who were born on the
same day of the week. What is the maximum value of n that we all are sure about? l _}_ &7 peisony _}),-_jm ante
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2) Assume that a class has 8 males and 4 females. We need to form a committee with 3 persons. A/V@
(i) In how many ways can we form a comrjliglcc with at least 2 males are selected? /
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(i) In how many ways can we form a committee with at leasi 1 female is W _ /
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(iii) In how many ways can we form a committee with | male and 2 females?
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QUESTION 2. Consider the following Algorithm segment. Find the exact number of additions, multiplications, and
subtractions that will be performed when the algorithm is executed. Then find the order of the Algorithm segment.
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